SRS 1 A1 HBAE (HoAD : HRADHR)
RrHT4 HE R | s [ 55 (A) | B | & (B) | HE | & (A+B) HE Dk
JIHI 3T 2, 429 -3 2, 764 —4 2,821 -11 5, 585 -15
JHPTHT— T H 987 0 909 2 823 4 1,732 6
T — T H 561 4 549 2 559 0 1, 108 2
P =TH 649 2 722 2 664 -9 1, 386 0
JHPTHTIU T H 483 -3 505 0 521 -9 1,026 -2
P HT H 315 3 348 1 315 3 663 4
PR T H 283 1 350 0 365 3 715 3
FESEHT 199 3 200 2 210 1 410 3
A 375 1 445 0 463 1 908 1
T H 1, 864 3 1,947 5 2,011 3 3, 958 8
PIPTHT 330 -1 334 -1 329 -1 663 -2
T 900 2 953 3 934 2 1, 887 5
T —TH 280 0 357 0 396 -1 753 -1
T — T B 330 4 431 4 429 4 860 8
HHT =T H 497 -9 683 0 671 -3 1, 354 -3
FHTIY T H 272 -2 395 -2 364 —4 759 -6
T 234 -1 266 0 253 -1 519 -1
H] = 290 0 352 0 329 1 681 1
=K 438 -9 458 0 459 —4 917 —4
— Y KFNT—TH 0 0 0 0 0 0 0 0
— Y ARHM T H 33 0 45 1 43 0 88 1
G 106 0 126 -1 123 -2 249 -3
— Y KHTH 5 0 5 0 6 0 11 0
KN A 671 4 849 5 862 6 1,711 11
[E TN 4, 447 -1 4, 838 2 5,015 2 9, 853 4
IR 4, 583 10 4, 499 1 4,551 -2 9, 050 -1
TR 1, 365 -2 1,471 2 1,524 -5 2, 995 -3
B+ 5 0 7 0 7 0 14 0
ELHR—TH 880 3 769 4 933 2 1, 702 6
E+HR_TH 1, 080 —7 1,077 -5 1,135 -5 2,212 -10
ELHR=TH 842 1 771 3 832 1 1, 603 4
ELARMNTH 639 —4 693 -5 698 1 1,391 —4
B LRI TH 695 1 768 -3 677 1 1, 445 -2
ELHRANTH 0 0 0 0 0 0 0 0
B T 1,842 0 1, 848 3 1, 798 3 3, 646 6
Wy —T1TH 289 -2 303 0 289 —4 592 -4
Wy T B 239 1 249 1 247 2 496 3
Wy b ="TH 425 0 436 2 448 -1 884 1
o EPUT B 696 -8 682 -8 729 -11 1,411 -19
¥ T B 415 0 469 0 503 0 972 0
IT—T1H 258 2 301 1 334 1 635 2
FEET T H 558 -1 561 -2 619 ) 1,180 —4
T =T H 186 0 188 -1 228 -1 416 -9
2 32, 025 6 33, 923 14 34,517 21 68, 440 -7




